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Time : 2 Hours] Max. Marks : 70

Note : This paper is of Seventy (70) marks divided into two
(02) Sections A and B. Attempt the questions contained
in these sections according to the detailed instructions
given therein.
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SECTION-A/( @US-% )
(Long Answer Type Questions)/( S ST Il Wg)

Note : Section 'A' contains Five (05) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any Two (02) questions only.

(2x19=38)
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1. What is Financial Management ? Explain Profit
Maximisation and Wealth Maximisation objectives of the
firm.
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2.  What is the capital structure of a company'? Explain the
factors affecting the Capital Structure of a Company.
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3. Following is the Information of "ABC Ltd" and XYZ Ltd."
Companies Particulars.

Particulars ABC Ltd XYZ Ltd

(X Lakhs) (X Lakhs)
Sales 1000 2000
Variable Cost (400) (600)
Contribution 600 1400
Fixed Cost 300 800
EBIT 300 600
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Interest 100
EBT 200
Tax 50
EAT 150
Preference Dividend 50
Pofit Available for 100
Equity share holder -
No. of Equity shares 10 lakh

200
400
100
300
100
200

20 lakh

You are Required to calculate the following :

(a) Operating leverage of both the companies.

(b) Financial leverage of both the companies.

(c) Combined leverage of both the companies.

~

ABC fafige sl XYZ fafies smtm=i 1 efiwer 3@

TR 2l
ABC fafiee XYZ fafaee
feraror R o) (T <)
fama 1000 2000
IRad arT (400) (600)
SNCE] 600 1400
feer. @ 300 800
=S dA X g8 ™ (EBIT) 300 600
= 100 200
F gd @9 (EBT) 200 400
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4. What is Capital Budgeting? Explain the various techniges
of Capital Budgeting.

AT TS|

5. The following are the details regarding two Companies.

A Ltd. B. Ltd.
r=15% r=5%
Ke =10 % Ke = 10%
EPS =X 8 EPS =% 8

Calculate the value of an Equity share of Each of these
Companies applying walter's model when Dividend Payout
Ratio is :
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@ 25%
(b) 50%
© 75%

T FEE # aR § FAfared e ISTes §:

A Ltd. B. Ltd.
r=15% r=5%
Ke =10 % Ke = 10%
EPS =% 8 EPS =% 8

T IE HACE W UE h GHAl S % oI 1 aeek
Hied &1 YN FEH UG HiTeu|

(F) 25%
(@) 50%

(N 75%.

SECTION-B/ @Us-@ )

(Short Answer Type Questions)/( T I AT Y9 )

Note : Section 'B' contains Eight (08) short answer type

e :

questions of Eight (08) marks each. Learners are required
to answer any Four (04) questions only.  (4x8=32)
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"Liquidity and Profitability are competing goods for Finance
Manager". Comment.
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Explain Briefly the factors which influence the Dividend
Policy of the firm.
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Explain the factors to be considerd while determining the
need for working capital of a company.
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What is Foreign Exchange Market? Explain its salient
features.

fakelt gx1 IR @ B2 TOHR ged fasiva SR

Vikram Ltd issues ¥ 100 face value. 12 % preference shares
repayable after 10 years at par.

The net Amount Realized per share is % 92.

Calculate the cost of preference share Capital.
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6. From the following information Calculate "Economic order
Quantity (E.O.Q)" and "Total Inventory Cost."

Annual Usage = 40000 units
Ordering cost =3 800 Per Order

Carrying Cost =% 8 per unit Per annum

freafafed e & R W “foaert omRy am”
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7.  The following information is available from the Balance Sheet
of a Company. Equity share capital 8000 shares.

Of ¥ 100 Each < 8,00,000
12% Debenture T 8,00,000
18% term load < 24,00,000

~%40,00,000

Determine the weightage Average cost of capital of the
company. It has been paying Dividends @ % 20 per share,
Income tax @ 40%
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A S YT 8000 A % 8,00,000
12% 19 % 8,00,000
18% &HI R0 % 24,00,000

~%40,00,000
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8. What are the factors affecting cash requirement of a business
concern.
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